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gz | RAfTHETHT 266 140 126 1,864 985 879
Al 201 4 4 0 20 13 7
*Ai it 594 319 275 4,294 2,207 2,087
f’;jj =R} 221 125 96 1,747 935 812
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B 473 260 213 3,497 1,845 1,652
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by # 72,751 174, 046 82,476 91,570 93 -28 121
H A B 19, 820 47,030 21, 506 25, 524 41 -15 56
+ = 572 1,392 671 121 0 -1 1
FBAF—TH 207 501 236 265 4 1 3
4BE_-TH 171 390 176 214 1 0 1
4BE=TEH 285 702 318 384 1 0 1
4BFMTH 358 878 418 460 1 0 1
4SBERTH 226 562 261 301 -2 1 -3
4BAFENRTH 455 1,121 512 609 2 2 0
Z B = 1,169 2,750 1,272 1,478 1 -4 5
FmEEfA—TH 244 572 266 306 -1 0 -1
mEMA=TH 149 381 170 211 1 0 1
£/T—TH 490 1,120 491 629 1 -1 2
£/ TFZTH 174 425 190 235 -1 0 -1
£/ TF=TH 267 593 293 300 -2 -1 -1
£/ THETH 326 760 338 422 -3 -3 0
£/ THETH 40 106 51 55 0 0 0
£ /J F 24 56 24 32 0 0 0
mAB®—TH 210 440 184 256 -3 0 -3
RAXZTEH 177 405 176 229 -2 0 -2
MABR=TH 135 315 154 161 1 1 0
RASMTH 285 622 272 350 1 -1 2
INET—TH 163 341 155 186 -5 -3 -2
INETZTH 473 1,169 494 675 -2 -1 -1
INBT=TH 247 554 235 319 -1 0 -1
KET—TH 465 984 437 547 3 0 3
KET—TH 566 1,284 588 696 -3 -2 -1
KET=TH 3717 846 388 458 3 0 3
KETIUTH 374 990 456 534 6 0 6
KETRTH 287 703 352 351 -2 1 -3
KETRTH 199 500 222 278 -5 -2 -3
KETETH 87 229 99 130 0 0 0
MARE—TH 430 1,072 492 580 1 1 0
MARE_TH 424 995 465 530 -7 0 -7
MARE=TH 606 1,449 660 789 -2 -2 0
MAREMNTH 274 693 318 375 3 1 2
MARERTH 568 1,400 664 736 6 0 6
MARERTH 477 1,136 551 585 3 2 1
B AE—TH 436 962 442 520 12 -1 13
HEHEZTH 732 1,590 734 856 8 -1 9
HLEAE=TH 384 901 427 474 -5 1 -6
HEHERTH 343 846 384 462 -5 -1 -4
Bl Rk HT 508 1,124 459 665 1 -2 3
£ B H 333 841 381 460 -2 0 -2
{EBh—TH 376 967 459 508 -2 0 -2
{EBI—TH 27 648 312 336 6 0 6
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£E&—TH 318 738 333 405 -8 0 -8
EA&ZTH 173 1, 741 797 944 9 1 8
EA&=TH 171 486 204 282 3 0 3
EAWMTH 144 286 139 147 1 0 1
EAETH 387 935 445 490 5 2 3
kR / F 535 1,362 601 761 1 -1 2
BEEF—TH 273 631 297 334 -1 -1 -6
WEEF_TH 236 554 237 317 5 0 5
WEE=TH 175 431 202 229 5 0 5
WBEEFLMTH 117 279 130 149 0 0 0
A AB—TH 237 549 269 280 3 0 3
WM AHB=-TH 175 432 196 236 -2 -1 -1
WAAB=TH 198 532 214 318 1 0 1
WA AHBmTAE 137 296 132 164 -1 0 -1
WMAABETH 580 1,463 663 800 15 0 15
B o #h i 10, 036 25,137 11, 808 13, 329 -17 -10 -7
[E#—TH 408 1,309 591 718 0 0 0
E#g_—TH 504 1,276 613 663 -2 -1 -1
E#%=TH 756 1,744 831 913 -2 -3 1
E#rm T B 299 703 356 347 10 0 10
E#ATH 400 1,021 496 525 7 -1 8
B o - E 2,412 5,978 2,847 3, 131 -20 -3 -17
fE—TH 499 1,215 560 655 -2 -1 -1
% E_TH 415 1,028 458 570 -1 -1 0
mEHE=TH 275 684 301 383 -4 1 -5
mA#EENTH 429 1,068 492 576 6 2 4
tEBHEERE—TH 10 26 13 13 0 0 0
tEBAHEER-TH 448 1,122 506 616 8 -1 9
tEBHEER=TH 475 1,190 545 645 0 -1 1
tEBAHEEREMTH 500 1,196 531 665 -4 0 -4
tEBAHEERRATH 272 735 354 381 -1 -1 0
EmB—TH 649 1,609 765 844 4 0 4
EBR_-TH 457 1,165 563 602 -2 0 -2
tBHE—TH 472 1,152 559 593 -13 0 -13
tEBAHEZTH 356 916 427 489 -1 0 -1
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FEOR O = 13,994 34,119 16, 434 17, 685 65 -2 67
#E—TH 332 806 398 408 -1 0 -1
w’E_-TH 654 1,753 825 928 -2 -1 -1
#E=TH 568 1,408 631 171 -5 -1 -4
R#EOTH 342 778 363 415 0 0 0
#ERTH 389 835 387 448 2 0 2
i =) 394 928 490 438 -8 1 -9
FHN—TH 467 1,116 560 556 15 0 15
= i = 504 1,214 550 664 0 -1 1
FH9=TH 403 1,009 442 567 0 -1 1
F 4 276 622 284 338 1 0 1
1] % 2,210 5,185 2,594 2,591 21 -1 22
t B E 696 1,830 899 931 6 1 5
FL—TH 292 744 363 381 -5 0 -5
FILZTH 449 1,120 535 585 6 1 5
FIR=TH 316 813 405 408 4 2 2
FLEMTH 549 1,483 122 761 1 1 0
FLAETH 342 710 388 322 5 0 5
FILATH 107 236 131 105 5 0 5
F i 63 145 68 17 -1 -1 0
HEH—TH 159 323 160 163 3 -1 4
HH_-TH 365 979 473 506 7 2 5
HEHA=TH 843 2,074 1,013 1, 061 3 0 3
HHMTH 352 872 412 460 4 0 4
EARATH 567 1, 400 658 742 4 -2 6
HHNTH 203 453 222 231 0 0 0
4] H 0 0 0 0 0 0 0
= i 1,329 3,186 1,523 1,663 -4 -2 -2
#wEL—TH 169 517 221 296 1 0 1
#HEIL—-_TH 235 587 259 328 0 0 0
HEIL=TH 280 655 314 341 7 1 6
#HEILMTH 139 338 144 194 -4 0 -4
X M #h = 18,916 42, 450 20, 549 21,901 9 -4 13
b/ A 1,763 4,009 1,920 2,089 4 -4 8
5Z-TH 751 1, 381 117 664 6 -1 7
£=TH 684 1,570 756 814 -2 0 -2
EMTH 782 1,795 862 933 5 1 4
EETH 883 2,154 1,101 1,053 4 0 4
a 858 1,973 943 1,030 -2 1 -3
INEA—TH 581 1, 051 528 523 i 2 5
INERZTH 929 1,922 971 951 -6 2 -8
I BB 43 97 46 51 0 1 -1
RKw—TH 345 618 279 339 4 0 4
KHW=—TH 854 1, 541 725 816 -3 0 -3
KMW=TH 542 1,129 530 599 -2 0 -2
KM@ TH 751 1,593 112 821 -10 0 -10
KMETH 705 1,583 721 862 6 0 6
RKMWATH 519 1,076 510 566 12 3 9
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X fia 1, 347 3,148 1,553 1,595 -12 -2 -10
=) 52 282 852 421 431 8 1 7
AHE—TH 1,530 3,535 1, 746 1,789 -1 2 -3
= ] 1, 806 4 212 2,072 2,140 -14 -1 -13
SR—TH 205 514 246 268 2 0 2
SR°-TH 363 921 429 492 -2 -3 1
SR=TH 254 571 300 271 -2 -1 -1
SEROETH X X X X 0 0 0
SRAETH 0 0 0 0 0 0
SRE—TH 325 826 389 437 6 0 6
SRE-TH 223 522 235 287 -1 0 -1
SRE=TEH 252 603 275 328 5 0 5
SREMTH 488 1,150 536 614 -3 -2 -1
SREERETH 171 436 195 241 -1 -1
SREBENTH 325 775 365 410 4 -1 5
SREETH 355 887 406 481 -3 -1 -2
E B i = 9, 985 25, 310 12,179 13, 131 -5 3 -8
&5—TH 380 703 357 346 0 0 0
fA—TH 634 1,425 680 745 -4 1 -5
BAAZTH 744 1,544 728 816 0 8
£ PN 1, 865 4 897 2,320 2,577 8 1 7
E#—TH 605 1,347 663 684 -3 2 -5
E#H_TH 694 1,742 840 902 18 -1 19
EH=TH 222 549 277 272 -14 -2 -12
E#EMOUTH 235 696 325 371 -1 0 -1
EHEATH 422 1,069 514 555 -9 -2 -7
HE X 2,168 5, 646 2,800 2,846 -4 2 -6
177 & 1, 311 3,602 1,721 1, 881 1 3 -2
E3] = 705 2,090 954 1,136 -5 -1 -4
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